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The diagram shows a garden in the shape of a rectangle
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All measurements are in metres. The perimeter of the gar-
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Work out the value of x
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Now have a go yourself . ..

Q1. The diagram shows the plan of an L shaped room. The dimen-

sions of the room are given in metres. Write down a formula in
terms of x and y for the perimeter P metres of the room.
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Q2. The diagram shows a parallelogram.
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The size of the angles, in degrees are: -
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Work out the value of x
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Exam Questions

Q1. The diagram shows a triangle.
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In the diagram, all the measurements are in metres.

The perimeter of the triangle is 56 m.
The area of the triangle is A m2.

Work out the value of A
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